
© Copyright 050608MV-Rev04, 1/2

5

Q.TY n.2

VITE TEF M6x16mm
SCREW
VIS
SCHRAUBE
TORNILLO

6

Q.TY n.2

DADO A.B. M6
FLANGIATO

BOLT M6
ECROU M6
MUTTER M6
TUERCA M6

5

6



© Copyright 050608MV-Rev04, 2/2


